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307 glz2tol & 182,587 142,613 39,974
05 RIZHRI & 3 182,587 142,613 39,974
Osg230I2d A 182,587
sES3 25,000 20,000 5,000
307 eIzl & 25,000 20,000 5,000
04 QIZFHALAIH E = 25,000 20,000 5,000
O&sdS2ds A 25,000
FaE 20=— A 17,000 13,500 3,500
307 glz2tol & 17,000 13,500 3,500
04 QIZFHALAIH B = 17,000 13,500 3,500
O&=3a24 HsI3HAE 17,000
doldI30l=0N 17,000 10,000 7,000
307 21201 A 17,000 10,000 7,000
04 DIZHHALALSE E X 17,000 10,000 7,000
OZdoid=0I=0& & At 17,000
2ol =HS A 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
04 DI2HHALALSE E X 20,000 20,000 0
OZdi=HSAH Akl 20,000
HotS 2t 3 40,000 40,000 0
307 glz2tol & 40,000 40,000 0
04 QIZFHALAIH B = 40,000 40,000 0
OXMore & ets4l 40,000
0k HIAEIE 80,000 80,000 0
307 21201 A 80,000 80,000 0
04 QIZFHALAIH B = 80,000 80,000 0
OJ0t2 HAEYE izl K& 80,000
SEAFS 2 S 30,000 25,000 5,000
307 gl2tol & 30,000 25,000 5,000
04 DIZHHALALSE E X 30,000 25,000 5,000
O&AI S 23 =l X2 30,000
HE=M 50,000 45,000 5,000
307 glz2tol & 50,000 45,000 5,000
04 QIZFHALAIH E = 50,000 45,000 5,000
OHES=HM Mzl XA 50,000
M AelAOtAEe 23 FH 50,000 15,000 35,000
< 30,000
Al 20,000
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Al 20,000
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ONH AcIACIAERZ 23=EH & AHHI| 40,000
= 20,000
Al 20,000
SXHAEH3colors" 10,000
= 10,000
24 2ot K& 80,000 80,000 0
307 212t0| & 80,000 80,000 0
02 DIZHEAAIRE E X 80,000 80,000 0
O2% Z3t=AMg & 80,000
2ol =2H 0tsS= HAEE 90,000 0 90,000
307 2Iz2to| A 90,000 0 90,000
04 SIZ2ISHAAIH E & 90,000 0 90,000
OZdl 2H ols= HAEEY JHA 90,000
N NES 23 22 =AM 10,000 0 10,000
= 5,000
Al 5,000
307 giztol A 10,000 0 10,000
& 5,000
Al 5,000
04 CIZ2tSHALALS B = 10,000 0 10,000
O&A AMEZ2 23 22 =AM 10,000
& 5,000
Al 5,000
2AoldHDI = A 17,000 0 17,000
307 212t0| & 17,000 0 17,000
04 SIZ2ISHAMAISHE E X 17,000 0 17,000
OUMNXZLHHDI=HE & ALY 17,000
MEN=QIHAEY 20,000 0 20,000
307 2iz2to| A 20,000 0 20,000
04 SIZ2HSHAALSH E & 20,000 0 20,000
OMEM = HAEIY &AM 20,000
OlSCtedilz 824842 AUS 17,000 0 17,000
307 gizto| A 17,000 0 17,000
04 QIZ2tSHALALS B = 17,000 0 17,000
Ooolgtiedilzs 824824 H AU & AHH] 17,000
& =2 SHA| B QA 15,000 15,000 0
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307 glz2tol & 15,000 15,000 0
04 DI2HHALALSE E X 15,000 15,000 0
OX=GHAIH L E 15,000
d= FAAFAWE 10,000 0 10,000
307 eIzl & 10,000 0 10,000
04 QIZFHALAIH E = 10,000 0 10,000
Od= =< U3 10,000
NGt 230 = At 138,680 143,880 A5,200
= 18,000
< 15,400
Al 105,280
OOt Gl=d A 67,050 68,250 A1,200
201 Let2d] 37,050 38,250 A1,200
01 At 22l 6,750 6,750 0
OO0t S (JIXH AL SXAE, 22
JEXY 8) 22 450,000& * 153 6,750
03 & At2 I 30,300 31,500 A1,200
OO0t SASJILM M EXAE, 22U
JEXY ) A 30,300
301 et a s 30,000 30,000 0
09 AL HI B A S 30,000 30,000 0
OO0t S (I, A SXALE, 22
HXdY 5) 243 2,000,000& * 153 30,000
NHEELs 23t0= XA 36,000 40,000 A 4,000
= 18,000
< 5,400
Al 12,600
307 glz2+ol & 36,000 40,000 24,000
= 18,000
< 5,400
Al 12,600
02 IZtE M AMHEE 36,000 40,000 A 4,000
OXNSELsS Fattzsns XA 36,000
= 18,000
< 5,400
Al 12,600
0=t XA 35,630 35,630 0
< 10,000
Al 25,630
301 et a3z 630 630 0
09 #HALAHIZ &S 630 630 0
Of=0M=x 0= 23283 EIIAF =2
o= 630
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